
Fill out this form and email to: orders.rockwood@assaabloy.com  /  or fax to: 800-922-9212

Customer Information
Contact Name:  					         Date:  					   
Company Name:  					         Account #:  				  
Street Address:  					         Phone/Fax:  	                    /  			 
City/State/Zip:  					         Email:  					   

Architectural  
Door Accessories

Rockwood Custom Strikes Order Form

4 7/8"

3 3/8"

#12 Screw
Specify
Wood
or Metal

#12 Screw
Specify
Wood
or Metal

#8 Combo
Screw

#12 Screw
Specify
Wood
or Metal

1 1/4"
Lip to
Centerline

3/4"

2 3/4"
1 1/2"

1 1/8"
Lip to
Centerline

5/8"

4 7/8"

3 3/8"

2

1

1 1/4"
Lip to
Centerline

3/4"

5 3/4"

3 1/2"
2

1

CS-ASA1 CS-ASA2

CS-OM

CS-T

1 1/4"

Lip to
Centerline

1 1/4"

Select Bolt Hole Size

 11/16" x 1 1/4"     3/4" x 1 1/4"     Other: W__________ x L__________

Select Bolt Hole Size

 11/16" x 1 1/4"     3/4" x 1 1/4"     Other: W__________ x L__________

Select Bolt Hole Size

1.	  11/16" x 1 1/4"     3/4" x 1 1/4"     Other: W__________ x L__________

2.	  11/16" x 1 1/4"     3/4" x 1 1/4"     Other: W__________ x L__________

Select Bolt Hole Size

1.	  11/16" x 1 1/4"     3/4" x 1 1/4"     Other: W__________ x L__________

2.	  11/16" x 1 1/4"     3/4" x 1 1/4"     Other: W__________ x L__________

Order Form for CS-ASA1, CS-ASA2, CS-OM, CS-T

Order Line # Qty Part #
Flat or
Curved LH RH

MS or WS
Fastener Finish

Options

Copyright © 2017, Rockwood Manufacturing Company, an ASSA ABLOY Group company. All rights reserved.  
Reproduction in whole or in part without the express written permission of Rockwood Manufacturing Company is prohibited. OF-CS   3/17



OF-CS   3/17

300 Main Street 
Rockwood, Pennsylvania 15557 
P: 800.458.2424  |  F: 800.922.9212 
www.rockwoodmfg.com  |  orders.rockwood@assaabloy.com
Copyright © 2017, Rockwood Manufacturing Company, an ASSA ABLOY Group company. All rights reserved.  
Reproduction in whole or in part without the express written permission of Rockwood Manufacturing Company is prohibited.

Order Form for 590-DA

Is Door:    Center Hung1           Flush with Jamb2

Order Line # Quantity Part # Jamb Width Finish

Options

C L

               

5/16"

5/16"

                  
2 3/8" min

3/32"

#8 Combo Screw

- Jamb Width +1"
                  

                               

                 

                 

590-DA


	Contact Name: 
	Date: 
	Company Name: 
	Account: 
	Street Address: 
	PhoneFax: 
	undefined: 
	CityStateZip: 
	Part Row1: 
	Flat or CurvedRow1: 
	MS or WS FastenerRow1: 
	FinishRow1: 
	Part Row2: 
	Flat or CurvedRow2: 
	MS or WS FastenerRow2: 
	FinishRow2: 
	Part Row3: 
	Flat or CurvedRow3: 
	MS or WS FastenerRow3: 
	FinishRow3: 
	Part Row4: 
	Flat or CurvedRow4: 
	MS or WS FastenerRow4: 
	FinishRow4: 
	Options: 
	Email: 
	Part Row1_2: 
	Jamb WidthRow1: 
	FinishRow1_2: 
	QuantityRow2: 
	Part Row2_2: 
	Jamb WidthRow2: 
	FinishRow2_2: 
	QuantityRow3: 
	Part Row3_2: 
	Jamb WidthRow3: 
	FinishRow3_2: 
	QuantityRow4: 
	Part Row4_2: 
	Jamb WidthRow4: 
	FinishRow4_2: 
	Options_2: 
	CS-ASA1 Width: 
	CS-ASA1 Length: 
	CS-ASA2 Length 1: 
	CS-ASA2 Width 1: 
	CS-ASA2 Width 2: 
	CS-ASA2 Length 2: 
	CS-ASA 2 c: 
	CS-T Lip to Centerline: 
	CS-T a: 
	CS-T 2: 
	CS-OM a: 
	CS-OM b: 
	CS-OM c: 
	CS-OM d: 
	CS-OM e: 
	CS-OM Lip to Centerline: 
	CS-OM Width 1: 
	CS-OM Length 1: 
	CS-OM Length 2: 
	CS-OM Width 2: 
	590-DA Width: 
	CS-ASA 2 d: 
	CS-ASA 2 Lip to Centerline: 
	CS-ASA1 Bolt Hole Size 1: Off
	CS-ASA2 Bolt Hole Size 1: Off
	CS-ASA2 Bolt Hole Size 2: Off
	CS-T Bolt Hole Size 1: Off
	CS-OM Bolt Hole Size 1: Off
	590-DA Hung: Off
	CS-ASA2 a: 
	CS-ASA2 Wood or Metal: 
	CS-ASA2 b: 
	CS-ASA1 Lip to Centerline: 
	CS-T Width: 
	CS-T Length: 
	CS-OM Bolt Hole Size 2: Off
	590-DA a: 
	590-DA d: 
	590-DA c: 
	590-DA b: 
	590-DA e: 
	590-DA f: 
	Hand Row 1: Off
	Hand Row 2: Off
	Hand Row 3: Off
	Hand Row 4: Off
	QtyRow1: 
	QtyRow2: 
	QtyRow3: 
	Line Item 1: 
	Line Item 2: 
	Line Item 3: 
	QtyRow4: 
	Line Item 4: 
	QuantityRow1: 
	Order Line 1: 
	Order Line 2: 
	Order Line 3: 
	Order Line 4: 
	CS-ASA1 Wood or Metal: 
	CS-ASA1 Edge to Cutout: 
	CS-ASA1 Bottom to Cutout: 


